1210147 (K12n0147)

Linearized knot diagam

ON AR
S T

Solving Sequence

3

' 712>48 >3—>2—>5—>6—>11—>1— 10 > 9 —>> C1,C5,C8
A knot diagrarrﬂ cr o C3 Cy

C2 Cq C6 Ci1 Ci2 Cio
Ideals for irreducible component#ﬂ)f Xpar

It = (—3u®® —5u' + . 4 4b -5, —3u!® —3u' + - + 20 — 4,
u'® +ut® — 5ut — 5ut® 1102 + 120 — 8ut® — 13u® — 8u® + 2u” + 18uS + 11u° — Tu? — 9u® — u® + 2u -
I3 = (1404675088u>" + 680434033u”® + - - - + 5440114508b + 183536430,
4259487893u>" + 5117778300u® + - - - + 108802290164 — 10842072870,
u®® 4 2uT 4 120+ 4)
=@ +b+u+l, —u?+a+2u+1, v* —u?+1)
'=(-uw+b—u+1, —v*+a—u+1, u* —u?+1)
M= (v +u?+b—u—1, v’ +a—u, u* —u?+1)
=W —u?+b+u, at+22u—1, ut —u?+1)
I = {(—u+b—wu, a—u, u* +u’+1)
I ={(a®+2a* +b+3a+1, a* +3a® +6a> +4a+1, u—1)
Ig=0b—-2,a-1, u—1)

* 9 irreducible components of dim¢ = 0, with total 69 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} =
(—3u'® —5ut*+4...+4b—5, —3u'®—3ul*+...+2a—4, u'®+u'®+...+2u+1)

(i) Arc colorings

N[E S0

2 o
S 2 ~—r

aq =

NH
N———

as = (u
%u15+§ul4+ -~+§u+§
ag = \Ly1s 1 314 4. 4 8,13
11,15 14 17 7
—=u u +_iu_7
a2: (_215 1u14+_.._14u_32>
2 2
Sul® 4 ult+ --+§u+2
as = \u® +2ult+. +3u+ 3
_2u15_3u14+..._13u_5>
4
= 3,,15 1,14 % 54
ae (—4U u +_§U_Z
u
a1l = \u
3
ar = (—u3—|—u)
_ouls _ Byl4 .13, 9
4
T (N A
3,,15 1,14 1 1
—2u — =Uu +77 — =
Y (o YO AR g )
@9 (‘4“ tout e qu—g
(ii) Obstruction class = —1

(iii) Cusp Shapes:—6u15—lul4+32u13+u12—@u11—4u10+%7u9+2—29u8+
21,7 _ 90,6 _ 1595 41,4 | 108,3 , 5,2 _ 35, _ 13
SU 30u Su + Fut + SPut + Ju SU—



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

1 16 + 16wt + -+ +1760u + 256

C2,Cyq ul® — 4yt ... — 560+ 16
€3 u'® 4+ 4ut £ 120+ 4

€5, €7, o u'® — w4 —2u 41

C11
Cg, C10 ul® —u!® 4+ 4 64u + 16
cg,C12 u16+11u15+~-~+6u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

61 y'® — 24y'° + ... — 508416y + 65536

2,4 y® + 169 + - - + 1760y + 256
cs y'® — 4y + .- — 56y + 16

Cs5,C7,C9 y16_11y15+_6y+1
C11
€6, C10 Y% + 2591 + ... 4 256y + 256
Cs, C12 y o — Ty 410y +1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.053870 4 0.9778661
a= 1.287840 — 0.2208501
b = —0.321900 — 0.8033751

—5.56822 — 3.255671

—1.25924 + 2.269831

u = —0.053870 — 0.9778661
1.287840 + 0.2208501
b = —0.321900 + 0.8033751

—5.56822 + 3.255671

—1.25924 — 2.269831

1.201500 + 0.3608701
a = —1.62412 — 1.037061
b= —2.42883 — 2.34865]

u =

—3.59239 — 7.600041

—5.70207 + 6.905281

1.201500 — 0.3608701
a = —1.62412 + 1.037061
—2.42883 + 2.348651

u =

—3.59239 + 7.600041

—5.70207 — 6.905281

—0.670764 + 0.3179321
2.23583 — 1.407171
1.14025 — 0.906221

—0.26009 + 4.342021

—3.06611 — 5.183121

—0.670764 — 0.3179321
2.23583 + 1.407171
= 1.14025 + 0.906221

—0.26009 — 4.342021

—3.06611 + 5.183121

0.703515 + 0.1409131
0.003040 + 0.2995441
0.501025 + 0.5466511

—1.337230 — 0.1853011

—7.62381 4 0.246471

0.703515 — 0.1409131
0.003040 — 0.2995441
0.501025 — 0.5466511

—1.337230 4 0.1853011

—7.62381 — 0.246471

—1.280950 + 0.2120671
0.273114 — 0.0875461
0.130376 + 0.6677311

—6.90379 + 2.570281

—9.79223 — 1.935611

—1.280950 — 0.2120671
= 0.273114 + 0.0875461
= 0.130376 — 0.6677311

—6.90379 — 2.570281

—9.79223 4 1.935611




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u =

b:

1.29321 + 0.596291
1.59347 + 1.065331
1.53873 + 2.995551

—12.8610 — 14.50811

—5.76542 + 7.911291

b:

1.29321 — 0.596291
1.59347 — 1.065331
1.53873 — 2.995551

—12.8610 + 14.50811

—b5.76542 — 7.911291

u = —0.358572 + 0.4460531
a = —2.09650 + 0.593011
b= —0.541243 + 0.8619181

1.55250 — 0.722681

4.27343 + 0.900711

u = —0.358572 — 0.4460531
a = —2.09650 — 0.593011
b= —0.541243 — 0.8619181

1.55250 + 0.722681

4.27343 — 0.900711

1.33407 + 0.553181

a=—0.172674 — 0.3817721
b= —0.018408 — 1.3372701

—13.7981 + 7.59531

—7.06455 — 3.466101

u = —1.33407 — 0.553181
a = —0.172674 4 0.3817721
b= —0.018408 + 1.3372701

—13.7981 — 7.59531

—7.06455 + 3.466101




II. I¥ = (1.40 X 10°u27 4 6.80 X 10%u?® 4 - ..+ 5.44 X 10°b + 1.84 X 108, 4.26 X
109427 +5.12x10%026 +- . - +1.09 X 101%4—1.08 X 1010, w28 4+2u27+...+12u+4)

(i) Arc colorings
1
az
a2 = )

—0.391489u27 — 0.470374u26 + - - . — 3.81459u + 0.996493
—0.258207u%7 — 0.125077u20 + - - - — 0.732283u — 0.0337376

)

—0.413924u*" — 0.597145u%¢ + - - - — 5.26760u — 0.220183 >

as =
ag =
az =

—0.0582121u2" — 0.0675302u2® + - - - + 0.340267u + 0.293866
0.477856u?" — 0.996708u5 + - - - — 13.3082u — 4.41263)

az = ( 0.112376u>" — 0.407794u> + - - - — 2.58251u — 1.23931

0.954572u%7 + 1.16393u25 + - - - 4 13.8778u + 5.23994
0.578242u27 + 0.838640u20 + - - - + 6.12426w + 2.98085

—0.553377u%" — 0.805395u26 + - .- — 4.19380u — 0.220141
—0.289887u%7 — 0.549598u26 4 . .. — 2.44368u — 1.38590

“)
)

—0.344773u?" — 0.559849u%6 4 ... — 12.5913u — 2.43833
—0.107385u%7 — 0.0325593u26 4 - - - — 1.42978u — 0.191489

0.122884u*™ + 0.0337522u?0 + - - - — 7.99636u — 2.60537
ag = \ —0.0118276u>" + 0.0954702u25 + - - - — 1.56095u — 0.292717

a5 =

ag =

<

a0 =

(ii) Obstruction class = —1

3864981188u27 4406004267 26_|_ _ 49326955058 19445189018

1360028627 1360028627 1360028627 1360028627

(iii) Cusp Shapes = —



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (ut* 4+ 21u!® + - — 66u + 1)?
Co,Cq (u'* = 3ur® - — 14u+1)2
C3 (u14_u13+_.'_2u_~_1)2
€5, €7, o u?® —2u¥ o —12u+ 4
C11
28 27
C6,C10 u“® +5u”’ 4 -+ + 251482u + 48331
Cs, C12 u®® +16u*" + - — 104u + 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 (y'* — 59y"3 + ... — 3858y + 1)?

Ca, Cq (y* 421y + .- — 66y + 1)?
C3 (y14_3y13+._14y+1)2

Cs5,C7,C9 y28 — 16y%" 4+ -+ 104y + 16
C11
€65 C10 Y 429927 + ... + 1236737368y + 2335885561
cs8, C12 y® — 82T ... — 14112y + 256




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = —0.944960 + 0.3893791
a= 1.68750 —1.234391
b= 1.31224 —1.714611

—0.06814 4 4.271591

—1.66019 — 6.679201

u = —0.944960 — 0.3893791
1.68750 + 1.234391
b= 131224+ 1.714611

—0.06814 — 4.271591

—1.66019 + 6.679201

0.167349 + 1.0465501
a = —1.56673 — 0.270721
b= 10.750716 — 1.1438101

u =

—9.38462 + 8.628951

—3.88181 — 4.950641

0.167349 — 1.0465501
a = —1.56673 + 0.270721
0.750716 + 1.1438101

u =

—9.38462 — 8.628951

—3.88181 + 4.950641

= —0.071840 + 1.0606201
—1.156110 — 0.4919071
0.349038 — 0.2368291

—9.86399 — 1.838091

—4.68358 + 0.514461

—0.071840 — 1.0606207
= —1.156110 + 0.4919071
= 0.349038 + 0.2368291

—9.86399 + 1.838091

—4.68358 — 0.514461

0.930250 + 0.5401851
—0.39656 — 1.399841
0.82318 — 1.201451

0.178509

—1.66494 4 0.1

0.930250 — 0.5401851
—0.39656 + 1.399841
0.82318 4 1.201451

0.178509

—1.66494 4 0.1

—0.967293 + 0.5452641
1.19253 — 1.461901
—0.09011 — 2.037611

0.97692 4 4.374181

1.48632 — 5.658591

—0.967293 — 0.5452641
= 1.19253 + 1.461901

b
U
a
b
U
a
b
U
a
b=
U
a
b
U
a
b
U
a
b= —0.09011 + 2.037611

0.97692 — 4.374181

1.48632 + 5.658591
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Solutions to I3

V=1(vol + v=1C)

Cusp shape

= —1.120270 + 0.1854511
= 0.336290 + 0.7815671
= 0.0603554 + 0.03441811

—2.83422 + 5.287011

—7.29071 — 5.649981

—1.120270 — 0.1854511
= 0.336290 — 0.7815671
= 0.0603554 — 0.03441811

> Q@ 2|l & &

—2.83422 — 5.287011

—7.29071 + 5.649981

0.661296 + 0.5163351
a= 139638 —1.24212]
b= 1.77737 + 0.588001

0.97692 — 4.374181

1.48632 + 5.658591

u= 0.661296 — 0.5163351
1.39638 + 1.242121
b= 1.77737 — 0.588001

0.97692 + 4.374181

1.48632 — 5.658591

0.986837 + 0.702176.1
a = —1.43243 — 0.292981
b= —0.95756 — 1.346181

—2.83422 — 5.287011

—7.29071 + 5.649981

u= 0.986837 —0.7021761
a = —1.43243 4 0.292981
b= —0.95756 + 1.346181

—2.83422 + 5.287011

—7.29071 — 5.649981

u = —0.576536 4 0.5199831

a = —1.80604 — 0.492761 2.08354 4.91356 + 0.1
b= —1.20129 + 1.052311

u = —0.576536 — 0.5199831

a = —1.80604 4 0.492761 2.08354 4.91356 + 0.1

b= —-1.20129 — 1.052311

u = —1.296330 4 0.5252511
a=—1.29110 4 1.101581
b= —1.32954 + 2.421511

—9.38462 + 8.628951

—3.88181 — 4.950641

u = —1.296330 — 0.5252511
a=—1.29110 — 1.101581
b= —1.32954 — 2.421511

—9.38462 — 8.628951

—3.88181 + 4.950641

11



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 1.323650 + 0.4640511
= 0.131487 — 0.1107681
= —0.532418 — 0.9725071

—9.86399 — 1.838091

—4.68358 + 0.514461

= 1.323650 — 0.4640511
= 0.131487+ 0.1107681
= —0.532418 4+ 0.9725071

—9.86399 + 1.838091

—4.68358 — 0.514461

= —1.39944 + 0.387541
0.184103 — 0.0132661
= 1.29482 — 1.202121

—14.5006 — 3.57591

—7.59435 + 2.220051

—1.39944 — 0.387541
0.184103 + 0.0132661
1.29482 + 1.202121

—14.5006 + 3.57591

—7.59435 — 2.220051

1.38126 + 0.464601
= 1.074130 + 0.7633121
= 1.81408 +1.691701

—14.5006 — 3.57591

—7.59435 + 2.220051

= 1.38126 — 0.464601
= 1.074130 — 0.7633121
= 1.81408 — 1.691701

—14.5006 + 3.57591

—7.59435 — 2.220051

= —0.073973 + 0.3839081
= 3.89655 + 0.219621
= 0.429118 + 0.1898271

—0.06814 + 4.271591

—1.66019 — 6.679201

= —0.073973 — 0.3839081
= 3.89655 — 0.219621
= 0.429118 — 0.1898271

> Q@ €| Q& €| & €| & €| & 8| & 8| & 8| & &
Il

—0.06814 — 4.271591

—1.66019 + 6.679201
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L. I = (u* + b+ u+1, —u*+a+2u+1, u* —u?+1)

(i) Arc colorings

ag =

asz =

as =

(
(
(
(
az = (2u3 —u?+2u
(
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = 12u% — 8

13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C4,C8 (u? —u+1)2
C2,C12 (u? +u+1)2
€3,C5,C7 ut — w2+ 1
€y, C11
‘6 (u? + 2u + 2)?
Cc10 (u2 — 2u + 2)2

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq (y2+y+1)2
€8, C12
€3,Cs5,C7 (yQ —y+ 1)2
Cg, C11
C6, €10 (y? +4)?

15



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.866025 + 0.5000001
= —2.23205 — 0.133971
= —1.86603 — 1.500001

— 6.089651

—2.00000 + 10.392301

= 0.866025 — 0.5000001
= —2.23205 4 0.133971
= —1.86603 + 1.500001

6.089651

—2.00000 — 10.392301

= —0.866025 + 0.5000001
= 1.23205 — 1.866031
= —0.13397 — 1.500001

6.089651

—2.00000 — 10.392301

= —0.866025 — 0.5000001
= 1.23205 + 1.866031
= —0.13397 + 1.500001

— 6.089651

—2.00000 + 10.392301

16



IV.I)=(—uv*4+b—u+1, —v *+a—u+1, u* —u?+1)

(i) Arc colorings

ag =
asz =

as =

(
(
(
( 3 2
(
(
(
(
(

w =2 +u+1
ud —2u2 —u+3

—ud —u?+2u
ag = \wu?—2u? +u+1
(ii) Obstruction class =1

(iii) Cusp Shapes = —4u?

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,Cg (u2 _u+1)2
C2,C12 (u? +u+1)2
€3,C5,C7 ut — w2+ 1
Cy, C11
6 ut + 4ud 4 5u + 2u+ 1
C10 ut +2ud +5u? +4u + 1

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq (y2+y+1)2
€8, C12
C3,Cs5,C7 (yQ —y + 1)2
Cg, C11
C6 yt — 6y + 112 + 6y + 1
C10 Yt +6y° +11y% — 6y + 1

19



(vi) Complex Volumes and Cusp Shapes

Solutions to If v—1(vol + /—1C5) Cusp shape
= 0.866025 + 0.5000001
= 0.36603 + 1.366031 2.029881 | —2.00000 — 3.464101

= —0.13397 + 1.500001

0.866025 — 0.5000001

0.36603 — 1.366031 — 2.029881 | —2.00000 + 3.464101
—0.13397 — 1.500001

—0.866025 + 0.500000

—1.36603 — 0.366031 — 2.029881 | —2.00000 + 3.464101
—1.86603 + 1.500001

—0.866025 — 0.5000001
—1.36603 + 0.366031 2.029881 | —2.00000 — 3.464101
—1.86603 — 1.500001

> R €|l Q2 €|l & €|l & €
Il
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V.I=(—ud+u2+b—-—u—1,u?>+a—u, u* —u?+1
5

(i) Arc colorings
1
ar
0
U
—u2 +u
w—uw?+u+1

)

a2 =
a4 =
ag =
u? +u+1>

asz =

—ud —1
az = 2ud — u? 4 2u

(

(

(o

(-

( 3
o ()

( 2u® +2u>

o= ()

( f’ U)

ha

o= (a0s)

(ii) Obstruction class =1

aip =

(iii) Cusp Shapes = 4u? — 4

21



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4,Cg (u2 _u+1)2
C2,C12 (u? +u+1)2
€3,C5,C7 ut — w2+ 1
Cy, C11
‘6 ut —2u® + 2u* — du+ 4
C10 ut +2ud +2u% +4u+4

22



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq (y2+y+1)2
€8, C12
€3,Cs5,C7 (yQ —y+ 1)2
Cg, C11
€6, C10 y* —4y° +16

23



Solutions to I¢

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.866025 + 0.5000001
0.366025 — 0.3660251
1.36603 + 0.633971

— 2.029881

—2.00000 + 3.464101

0.866025 — 0.5000001
0.366025 + 0.3660251
1.36603 — 0.633971

2.029881

—2.00000 — 3.464101

—0.866025 + 0.500000
—1.36603 + 1.366031

2.029881

—2.00000 — 3.464101

—0.36603 + 2.366031

—0.866025 — 0.5000001
—1.36603 — 1.366031
—0.36603 — 2.366031

— 2.029881 | —2.00000 + 3.464101

> R €|l Q2 €|l & €|l & €
I

24



VLI}=(@Ww—u’+b+u, a+2u—1, u?* —u?+1)

(i) Arc colorings

asz =
—3ud +u? +u )

(
(
(
(
az = (2u3+u2+2u1
(
(
(
(
(

a5 =

—3ut 4+ 2u 4+ u— 1)

uwd—2u+3
7u3+2u27u+1

2ud — —u+4
ag = ud —2u+3

(ii) Obstruction class =1

(iii) Cusp Shapes = 4u? — 4

25



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C4,C8 (u? —u+1)2
C2,C12 (u? +u+1)2
€3,C5,C7 ut — w2+ 1
Cy, C11
6 ut — 2u3 4+ 5u? —du +1
C10 ut — 4w +5u% — 2u+1

26



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq (y2+y+1)2
€8, C12
C3,Cs5,C7 (yQ —y + 1)2
Cg, C11
Co y* + 6y +11y% — 6y + 1
c10 y* — 6y + 11y + 6y + 1

27



(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

= 0.866025 + 0.5000001
= —0.732051 — 1.0000001 — 2.029881 | —2.00000 + 3.464101
= —0.366025 — 0.6339751

= 0.866025 — 0.5000001
= —0.732051 + 1.0000001 2.029881 | —2.00000 — 3.464101
= —0.366025 + 0.6339751

= 2.73205 — 1.000001 2.029881 | —2.00000 — 3.464101
= 1.36603 — 2.366031

= —0.866025 — 0.5000001

= 2.73205 4 1.000001 — 2.029881 | —2.00000 + 3.464101

U

a

b

U

a

b

u = —0.866025 + 0.5000001
a

b

U

a

b= 1.36603 + 2.366031

28



VIL. I = (—u®*+b—u, a —u, u* + u®+1)

(i) Arc colorings

asz =

as —

(
(
(
( 3
N P
(
(
(
(
(

ud + 2
ag = \u?+2u® —u+2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

29



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ut + 3ud 4 6u® + du + 1
C2,Cyq = w2+ 1
C3,Ce6,C7 u4—u3+1
C11
Cs, Cg, C9 (u+1)4
C10 ut = 3u +6u? —4du+1
C12 ut+ud 20+ 1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C10 yt 4+ 3y° + 14y? — 4y + 1
4 3 2
C2,C4, C12 Yy +3y° +6y° +4y+1
C3, Cg, C7 y47y3+2y2+1
c11
Cs5,C8, Co (y—1)*
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ VvV—1(vol + /—1CS) Cusp shape
0.518913 + 0.6666101
0.518913 + 0.666610 | —1.64493 —6.00000

—0.033125 + 0.9088841

0.518913 — 0.6666101
0.518913 — 0.6666107 | —1.64493 —6.00000
—0.033125 — 0.9088841

—1.018910 + 0.6025651
—1.018910 4 0.6025651 | —1.64493 —6.00000
—0.96687 + 2.260501

—1.018910 — 0.6025651
—1.018910 — 0.6025651 | —1.64493 —6.00000
—0.96687 — 2.260501

> Q €|l & €|l & €|l & €
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VIIL I = (a®*4+2a*+b+3a+1, a*+3a®+6a®>+4a+1, u—1)

(i) Arc colorings

0
a2 = \1
a
4= \—ag3—2a>—-3a—1
1
ag = 1
a® +2a% +5a+1
a3 = a
a®+a®+3a
a2 = 7a‘2
—2a — 2
as = \ —2q —1
—a®—a?—-3a
a6 — a2
1
aj; = \1
-1
ayp = 0
a® +2a®> +3a+2
aig = —a? —2a
—a® —4a®> —6a—1
ag = \—a®—4a® —5a—1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ut + 3ud 4 6u® + du + 1
C2,Cyq = w2+ 1
€3, Cs5,Cy u4—u3+1
€10
6 ut — 3ud 4 6u? — du +1
€7,C11,C12 (u+1)*
Cs ut+ud 420?41
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce yt 3% 14y — 4y + 1
4 3 2
C2,C4,C8 Yy +3y° +6y° +4y+1
C3,Cs,Cq y47y3+2y2+1
C10
4
C7,C11,C12 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape

u = 1.00000
a = —0.447962 + 0.2422751 | —1.64493 —6.00000
b= 0.070951 — 0.4243351
u = 1.00000
a = —0.447962 — 0.242275] | —1.64493 —6.00000
b= 0.070951 + 0.4243351

u = 1.00000

a = —1.05204 + 1.657941 | —1.64493 —6.00000

b= —2.07095 + 1.055371

u = 1.00000

a = —1.05204 — 1.657941 | —1.64493 —6.00000

b= —2.07095 — 1.055371
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IX. Iy =(b—-2,a—1, u—1)

(i) Arc colorings

o= (o)

1

o

a2 =

ayq =

ag =

N— — — 7 ~—

G
—_ =
N——

S
=N
|

IS
i
jn
Il
— = = =W N
~ N~ N~

)
S
\

\
o —
N—

aip =

S
©
|

=)
ot
I
P e s e e e e e e

=W W
N——

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Ca,C4 u—1
€3, Cs5, Ce
€7, €8, Cy utl
C10,C11, C12
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,Cs5, Ce
C7,Cg,C9

€10, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a = 1.00000 —1.64493 —6.00000
b= 2.00000
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X. u-Polynomials

Crossings u-Polynomials at each crossing

c (u—1)(u? —u+1)%(u* + 3u® + 6u? + 4u + 1)?
(M 21ut e = 66w+ 1)) (w166 - - 4 1760u + 256)

s (u—1)(u? +u+1)%u* —u? +2u% + 1)%(u™ = 3u® + - — 1du+1)?
(u'® — 4u® + - — 56u + 16)

s (w+1)(u* —u? + Dt —u® + D)% — e+ —2u+1)2
S(u' 4u’ 4 120+ 4)

cy (u—1)(u? —u+ 1) —u® +2u? +1)*(u™* = 3u'® + - — 1du +1)?
(u'® — 4u® + - — 56u + 16)

C5,C7, Cy (u+ 1)) (u* —u? + D —u® + D) (' —u® + - —2u+1)
C11 . (u28 20?7 + —12u + 4)

o (u+ 1) (u? 4+ 2u+2)%(u* = 3ud + -+ —du+ 1) (u* — 2ud + -+ — du +4)
(ut = 2u® + 5u? — du 4+ 1) (ut —u® + 1) (ut + 40P+ 5u® + 2u+ 1)
(U —u® 4 4 64u + 16) (u® 4 5T + - -+ 251482u + 48331)

cs (u+1)")(u? —u+ 1D +u® 4+ 202 + D (u® + 11ur® + - + 6u + 1)
(u®® + 16u" + - — 104u + 16)
(u+1)(u? —2u+2)(u* —4u® + - —2u+1)(u* = 3u® + - —4du+1)

1o 4_ 3 4 3 2 4 3 2
(ut —u” + D)t 4 2u” + 20 + du+4)(u” + 20 + 5u” +4du+ 1)
St — w4 64u + 16) (u®® + 5u®T 4 - - - 4 251482u + 48331)

1o (u+1)%)(u? +u+ 13w +u® + 20® + 1) (u'® + 11u'® + - + 6u+ 1)

) (u28 4+ 16027 + ... —104u + 16)
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XI. Riley Polynomials

Crossings Riley Polynomials at each crossing
o (y = D(y* +y + D%(y" +3y° + 149> — 4y + 1)
S(y* —59y" 4 - — 3858y +1)2
- (y*® — 24y 4 .- — 508416y + 65536)
_— (y = D" +y+1)%y" +3y° +65° + 4y + 1)
(Y™ 21y 4 - = 66y + 1)*)(y"° + 16y"° + - - - 4+ 1760y + 256)
c3 (=D —y+ D" —v* + 202 + 1)’ (" =3y + - — 14y +1)°
(y"® —4y"® + - — 56y + 16)
€55 €7, Co (=) —y+ D =’ + 27 + D" — 11y + - =6y + 1)
c11 S(y*® = 16y%7 4 - + 104y + 16)
(y — D(y* +4)*(y" — 49> +16)(y"* — 6y° + 11y* + 6y + 1)
€6, 10 W2 D 3 Ay F (Y 6y~ Gy 1)
- (y*® + 25y + - - - + 256y + 256)
(y® 29927 4 -+ + 1236737368y + 2335885561)
cs. 1 (y =1 +y +1)%(y" +3y° + 6y + 4y + 1)

Sy =Ty 10y 4+ 1) (9% — 82T 4 - — 14112y + 256)
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